
tu{El,Ua
* **';H1i'ffx','llJHlixT,llH:fl 

[
AL

<UnqU3hL 'lunaunUnnFG3UL htUrrULUgtrUIJ CLGUSenFU <LUnU{nn <UnqU3hL FnU{UtuUtuSnFU <U3SLUFbnbLnhg ULtIhau.rtbU
<bSn <UlttU3h], UUnULh .I|USUUtuULUSftl\ ,rlUCSntUSUn UrJeh qntUhg r{UAUtlnt

unrulJuqrnFa3nf lu N 7171 /2023/ b /U
p. bphutr

1. UnU3h! UnFnhqh <uq0p3uL <.t<< 49727315

08/11/2023p.

(htrLrlnuqnn hurnqLUJhtr hnuqufu urFmird lrurmurnur6 urtr.h urtrnrr0, urqqutrn!rr[,
qurq'IurqbnqnLplurlr FhLl utr{url,rr[[, <{<< (unqu]jnLpjurlr 4bulBnuI)
2. UnUU{hn unueu unshubs tuuLa3uL o..2.s
{Flrurqnlplutr (qutr'1trnL Llurtnh) hurusbtr)

3. 3,104760336

4. (trurprurlnp hLup!ulfrtr |rprurlLufuurfuunrrltrbpf trlupuqpnLplnrhp, durrftutruQurhruurr[urdp, ibnpptp{urd rnb4bQnLgnrtutubpp h ultr
ftpLurlu[urtr trnpdbpp, npntrg qLuhurtrqtrbpg lbtr qruhqurlrlb1

'trbnurpbnut 
ubrlbqnrpjnrltrbnh hurdurduttr' ghqlr!u!LrL urtrdh qntdhg.

hqnnnrp1ruUF unu.rtruqnnuurlhtr dhlng[, npfr qLulrILuLuqpr.ulf tr uJndbp0 l.]'Jrqdbtt 11000000 (( 4purJ:

hur rlbllur6n 0:

5' Obngpbprlrud uE4bllnrplnLtrtrhpJr uurhdtutrfubpnLrl qupurur{npnLplurfu trLufutrru!rufu hur2r[rup!g Lr qururuu[uurtrurur{nrp;lrtr
![tpurnrlurtr f purrlu!utr h[rrlpbpp

qunmur{nnnrpJnrtrtrbnfr hu2Llupllp llumupL{nLrl I htiLnulul !bpq.

llurqdnrd h' 1l00004rlurd:

Ll6urnnq! L[6urnnrd i Lnnt]d 0.04 mnttnuh lLutfn{, npp luqrJnuJ l' 3..ai 4nLrrd (OB/11 2023 
".t-!LtL!irn 

4pnLplwrtp; 1t iooooxo, o+%xt sl;:

nphg hLunq'110000 4purJ. mnqd'8404 rpLurJ:

(ruuuup!Lbpfr u.rnLlurlntpjur! tr Lbp!u urgr.lu_:L 4bqpnLrI:

€.UnLltr updLr.rtruqpnrpluLp !91{nLrI bt-r urtrpudLutrbfr LIuruI hurUrlhuuJgnrt
T.Etrryrufbtrp' _-_ pbpp
8.[IpdutruqpntplnLtrp !uqtlud hLup!trlfrtr rftuptltrf qu2mntruuLup rutrifr uLnrtrg. LuqqutrnLtrp, umnpurqpnrplnLtrp

<< clbl{ <SO.L t[ruplnrplrub bUUS.t purdtrh q1fuu{np h/m Cuh tutr b trup uu1 bm;utr



c)o
t

oi
E-,
5

C
C
24

3
3
C

-
CJ
C-s-
6

--- 
=--x

:
c.:(:
cc

t.
c
'=

l-

l"_
lc-lct-
i=t;
l>.
l-

l:
I c,)

IE
1=
l:

)a_
=ctCDJcrt,C). Ja

- a$
rf Ql
t-)
J=

. L )

";-l)
)=t
- -l-4A

L?

CD=
-aJ()
-ot-a

Ca
L
L
J3
=C-a
(o
'e
0)

E

E
G

o
o
G
+
oo
6

o
o'
o
o
o
c
U
n
!

B
oo

tl)
(o

It?ca
E->
=,LE7
-)E-t
lJl

1bCC.
?DJ.1: o
E?i<DI)
=a\?ER-,
= 

gRF
=o-'61rtri\r-
FETE

$1
el'hS
,if$L


